

SCIREA Journal of Mathematics

http://www.scirea.org/journal/Mathematics

October 24, 2021 Volume 6, Issue 4, August 2021

Bayes Estimator for inverse Gaussian Distribution with Jeffrey's Prior

Zul Amry

Department of Mathematics, State University of Medan, Indonesia Email: zul.amry@gmail.com

Abstract

This paper presents a Bayesian analysis of the parameters for the inverse Gaussian distribution under the Jeffrey's prior assuming a quadratic loss function. Analysis begins with the parameterization to the parameters in the distribution, then construct the posterior distribution based the likelihood function and prior, while the Bayes estimator is concluded based the posterior mean.

Keywords: inverse Gaussian distribution, bayes theorem, Jeffrey's prior.

1. Introduction

The inverse Gaussian distribution is a distribution that has two parameters, this distribution is an important distribution, because it is widely applied in lifetime data analysis in biology, cardiology, hydrology, demography, and economics. The problem in the application of distribution models in general is how to estimate the parameters in the model, in the classical method, the estimation of parameters is only based on sample observations, while the Bayesian method combines information from the sample and initial information is known as priors. In general, priors are derived from past experience of population parameters and also can be obtained from other sources of statistical investigation, therefore the Bayesian approach allows for better decisions.

2. Materials and method

The materials in this paper are several interrelated theories in statistics as inverse Gaussian distribution, the likelihood function, Bayes theorem and Jeffrey's prior.

The inverse Gaussian distribution is a two-parameter family of continuous probability distribution. A continuous random variable, X, is said to have the inverse Gaussian distribution if it has probability density function of the form

$$f(x;\mu,\lambda) = \left(\frac{\lambda}{2\pi x^3}\right)^{1/2} exp\left(-\frac{\lambda(x-\mu)^2}{2\mu^2 x}\right), x > 0$$
(1)

for x > 0, where $\mu > 0$ and $\lambda > 0$ are parameters.

The joint density function of n random variables $X_1, X_2, ..., X_n$ evaluated at $x_1, x_2, ..., x_n$ say $f(x_1, x_2, ..., x_n; \theta)$, is referred to as a likelihood function. For fixed $x_1, x_2, ..., x_n$ the likelihood function is a function of θ and often denoted by $L(\theta)$. If $X_1, X_2, ..., X_n$ represents a random sample from $f(x; \theta)$, then the likelihood function is:

$$L(\boldsymbol{\theta}|\boldsymbol{X}) = \prod_{i=1}^{n} f(\boldsymbol{x}_i \mid \boldsymbol{\theta})$$
⁽²⁾

Jeffrey's prior is a prior which is constructed mathematically based on the likelihoodfunction. Let $L(\theta|X) \propto f(X|\theta)$ be the likelihood function for θ based on observation X, Jeffrey suggests a prior:

$$\pi(\theta) \propto \sqrt{-E_{X|\theta} \left(\frac{\partial^2}{\partial \theta^2} \log L\left(\boldsymbol{\theta}|\boldsymbol{X}\right)\right)}$$
(3)

The method used is literature study by applying the Bayesian analysis with th Jeffrey's prior. The procedure is done by constructing the likelihood function, the posterior distribution and determining the Bayes estimator based the posterior mean.

3. Construction of Estimator

The steps to determine the bayes estimator of parameters for the inverse Gaussian distribution are through parameterization, the likelihood function, the Jeffrey's prior, the posterior distribution, and the the posterior mean.

3.1. Parameterization

Assuming $\mu = \psi^{-1}$ to equation (1), we get:

$$f(x;\psi,\lambda) = \left(\frac{\lambda}{2\pi x^3}\right)^{1/2} exp\left(-\frac{\lambda(x-\psi^{-1})^2}{2\psi^{-2}x}\right)$$

$$= \left(\frac{\lambda}{2\pi x^3}\right)^{1/2} exp\left(-\frac{\lambda}{2}\frac{(x-\psi^{-1})^2}{\psi^{-2}x}\right)$$

$$= \left(\frac{\lambda}{2\pi x^3}\right)^{1/2} exp\left(-\frac{\lambda}{2}\left(\frac{x-\psi^{-1}}{\psi^{-1}x^{1/2}}\right)^2\right)$$

$$= \left(\frac{\lambda}{2\pi x^3}\right)^{1/2} exp\left(-\frac{\lambda}{2}\left(\psi x^{1/2} - \frac{1}{x^{1/2}}\right)^2\right)$$

$$= \left(\frac{\lambda}{2\pi x^3}\right)^{1/2} exp\left(-\frac{\lambda x}{2}\left(\psi - \frac{1}{x}\right)^2\right)$$
(4)

3.2 Likelihood function

The likelihood function of the parameters (ψ, λ) is:

$$L(\psi,\lambda) = \prod_{i=1}^{n} f(x_i | \psi,\lambda)$$

=
$$\prod_{i=1}^{n} \left(\frac{\lambda}{2\pi x_i^3}\right)^{1/2} exp\left(-\frac{\lambda x_i}{2}\left(\psi - \frac{1}{x_i}\right)^2\right)$$

=
$$\left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} exp\left(-\frac{\lambda}{2}\sum_{i=1}^{n} x_i\left(\psi^2 - \frac{2\psi}{x_i} + \frac{1}{x_i^2}\right)\right)$$
(5)

because

$$\begin{split} \sum_{i=1}^{n} x_i \left(\psi^2 - \frac{2\psi}{x_i} + \frac{1}{x_i^2} \right) &= \psi^2 \sum_{i=1}^{n} x_i - \sum_{i=1}^{n} 2\psi + \sum_{i=1}^{n} \frac{1}{x_i} \\ &= \psi^2 n \bar{x} - 2n \psi + \sum_{i=1}^{1} \frac{1}{x_i}; \ \, \bar{x} = \frac{1}{n} \sum_{i=1}^{n} x_i \\ &= n \bar{x} \left(\psi^2 - \frac{2\psi}{\bar{x}} + \frac{1}{n\bar{x}} \sum_{i=1}^{1} \frac{1}{x_i} \right) \\ &= n \bar{x} \left(\psi^2 - \frac{2\psi}{\bar{x}} + \frac{\bar{x}_r}{\bar{x}} \right); \ \, \bar{x}_r = \frac{1}{n} \sum_{i=1}^{n} \frac{1}{x_i} \\ &= n \bar{x} \left[\left(\psi^2 - \frac{1}{\bar{x}} \right)^2 - \frac{1}{\bar{x}^2} + \frac{\bar{x}_r}{\bar{x}} \right] \\ &= n \bar{x} \left(\psi^2 - \frac{1}{\bar{x}} \right)^2 + n \left(\bar{x}_r - \frac{1}{\bar{x}} \right) \\ &= n \bar{x} \left(\psi^2 - \frac{1}{\bar{x}} \right)^2 + nv, \ \, v = \bar{x}_r - \frac{1}{\bar{x}} \end{split}$$

then the equation (5) become:

$$L(\psi,\lambda) = \left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} \exp\left(-\frac{n\lambda\bar{x}}{2}\left(\psi-\frac{1}{\bar{x}}\right)^2 - \frac{n\lambda v}{2}\right)$$
(6)

3.3. Bayes estimator of λ if ψ know.

Based the equation (4), the likelihood function of λ is:

$$L(\lambda) = \left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} \exp\left(-\frac{n\lambda\bar{x}}{2}\left(\psi^2 - \frac{2\psi}{\bar{x}} + \frac{1}{\bar{x}^2}\right) - \frac{n\lambda\nu}{2}\right)$$

$$= \left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} exp\left(-\frac{n\lambda\bar{x}\psi^2 - 2n\lambda\psi + n\lambda/\bar{x} + n\lambda\nu}{2}\right)$$
$$= \left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} exp\left(-\frac{n\lambda(x\psi^2 - 2\psi + 1/\bar{x} + \nu)}{2}\right)$$
$$= \left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} exp\left(-\frac{n\lambda(x\psi^2 - 2\psi + \bar{x}_r)}{2}\right)$$
$$= \left(\frac{\lambda}{2\pi}\right)^{n/2} x^{-3n/2} exp\left(-\frac{n\lambda\bar{w}}{2}\right), \quad w = \bar{x}\psi^2 - 2\psi + \bar{x}_r$$

by using "proporsional", obtained

$$L(\lambda) \propto \lambda^{n/2} exp\left(-\frac{n\lambda w}{2}\right)$$
(7)

and the Jeffrey's prior of λ is:

π

$$\begin{aligned} (\lambda) \propto & \left| -E\left(\frac{\partial^2}{\partial\lambda^2}\log L(\lambda)\right) \right|^{1/2} \\ \propto & \left| -E\frac{\partial^2}{\partial\lambda^2}\left(\log \lambda^{n/2}exp\left(-\frac{n\lambda w}{2}\right)\right) \right|^{1/2} \\ \propto & \left| -E\frac{\partial^2}{\partial\lambda^2}\left(\frac{n}{2}\log\lambda - \frac{n\lambda w}{2}\right) \right|^{1/2} \\ \propto & \left| -E\frac{\partial}{\partial\lambda}\left(\frac{n\lambda^{-1}}{2} - \frac{nw}{2}\right) \right|^{1/2} \\ \propto & \left| -E\left(-\frac{n\lambda^{-2}}{2}\right) \right|^{1/2} \\ \propto & \left| \frac{n\lambda^{-2}}{2} \right|^{1/2} \\ \propto & \lambda^{-1} \end{aligned}$$
(8)

Next, by using the bayes theorem to equation (7) and (8), be obtained the posterior distribution

$$\pi(\lambda|\psi, x_1, x_2, ..., x_n) \propto L(\lambda) \cdot \pi(\lambda)$$

$$\propto \lambda^{n/2} \exp\left(-\frac{n\lambda w}{2}\right) \cdot \lambda^{-1}$$

$$\propto \lambda^{\left(\frac{n}{2}-1\right)} \exp\left(-\frac{nw}{2}\lambda\right)$$
(9)

Based the equation (9) can be concluded that the posterior distribution have the gamma distribution with parameters $\frac{n}{2}$ and $\frac{nw}{2}$ and the posterior mean is

$$\hat{\lambda} = \frac{n/2}{nw/2} = w^{-1} \tag{10}$$

3.4. Bayes estimator of ψ if λ know.

Based the equation (6), the likelihood function of ψ is:

$$L(\psi) \propto exp\left(-\frac{n\lambda\bar{x}}{2}\left(\psi-\frac{1}{\bar{x}}\right)^2\right)$$
 (11)

and the Jeffrey's prior of ψ is:

$$\pi(\psi) \propto \left| -E\left(\frac{\partial^2}{\partial\psi^2}\log \exp\left(-\frac{n\lambda x}{2}\left(\psi-\frac{1}{x}\right)^2\right)\right) \right|^{1/2}$$

$$\propto \left| -E\frac{\partial^2}{\partial\psi^2}\left(\left(-\frac{n\lambda x}{2}\left(\psi-\frac{1}{x}\right)^2\right)\right) \right|^{1/2}$$

$$\propto \left| -E\frac{\partial}{\partial\psi}\left(-n\lambda x\left(\psi-\frac{1}{x}\right)\right) \right|^{1/2}$$

$$\propto |E(n\lambda x)|^{1/2}$$

$$\propto |constant|^{1/2}$$

$$\propto 1$$
(12)

Next, by using the bayes theorem to equation (11) and (12), be obtained the posterior distribution

$$\pi(\psi|\lambda, x_1, x_2, ..., x_n) \propto L(\psi) \cdot \pi(\psi)$$

$$\propto exp\left(-\frac{n\lambda \bar{x}}{2}\left(\psi - \frac{1}{\bar{x}}\right)^2\right)$$

$$\psi \text{ normal distributed with mean } \frac{1}{\bar{x}} \text{ and variance } (n\lambda \bar{x})^{-1}, \text{ denote:}$$

$$\psi \sim \left(\frac{1}{\bar{x}}, (n\lambda \bar{x})^{-1}\right)$$
(13)

To discuss the equation (13) further, we need the following definition and theorems <u>Theorem 1</u>

If
$$X \sim N(\mu, \tau^{-1})$$
, then $\Phi(\mu \tau^{\frac{1}{2}}) = \int_0^\infty f(x; \mu, \tau^{-1}) dx$

Proof

Suppose
$$I = \int_0^\infty f(x;\mu,\tau^{-1}) dx = \int_0^\infty \left(\frac{\tau}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-\tau(x-\mu)^2}{2}\right) dx$$

The transformation $z = \tau^{\frac{1}{2}} (x - \mu)$ give

$$I = \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} \left(\frac{1}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-z^{2}}{2}\right) dz = \int_{-\infty}^{\mu\tau^{\frac{1}{2}}} \left(\frac{1}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-z^{2}}{2}\right) dz = \Phi\left(\mu\tau^{\frac{1}{2}}\right) \blacksquare$$

Definition 1

A random variable $X \sim N(\mu, \tau^{-1})$; x > 0, $\mu \in R$, and $\tau > 0$, if it has the probability density function

$$f(x;\mu,\tau^{-1}) = \frac{1}{\Phi(\mu\tau^{\frac{1}{2}})} \left(\frac{\tau}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-\tau(x-\mu)^{2}}{2}\right)$$

Theorem 2

If
$$X \sim N(\mu, \tau^{-1})$$
, then $E(X) = \frac{1}{\Phi(\mu \tau^{\overline{2}}) (2\tau \pi)^{\overline{2}}} exp\left(\frac{-\mu^2 \tau}{2}\right) + \mu$

Proof

$$E(X) = \int_0^\infty x f(x;\eta,\tau^{-1}) dx = \int_0^\infty x \frac{1}{\Phi(\eta\tau^{\frac{1}{2}})} \left(\frac{\tau}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-\tau(x-\eta)^2}{2}\right) dx$$

with transformation of $z = \tau^{\frac{1}{2}}(x - \mu)$, obtained

$$\begin{split} E(X) &= \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} \frac{(z+\mu\tau^{\frac{1}{2}})/\tau^{\frac{1}{2}}}{\Phi(\mu\tau^{\frac{1}{2}})} \left(\frac{\tau}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-z^{2}}{2}\right) \frac{dz}{\tau^{\frac{1}{2}}} \\ &= \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} \frac{\left(\frac{z}{\tau^{\frac{1}{2}}}\right) + \mu}{\Phi(\mu\tau^{\frac{1}{2}})} \left(\frac{1}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-z^{2}}{2}\right) dz \\ &= \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} \frac{z}{\Phi(\mu\tau^{\frac{1}{2}})\tau^{\frac{1}{2}}} \left(\frac{1}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-z^{2}}{2}\right) dz + \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} \frac{\mu}{\Phi(\mu\tau^{\frac{1}{2}})} \left(\frac{1}{2\pi}\right)^{\frac{1}{2}} exp\left(\frac{-z^{2}}{2}\right) dz \\ &= \frac{1}{\Phi(\mu\tau^{\frac{1}{2}})(2\tau\pi)^{\frac{1}{2}}} \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} z exp\left(\frac{-z^{2}}{2}\right) dz + \frac{\mu}{\Phi(\mu\tau^{\frac{1}{2}})} \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} exp\left(\frac{-z^{2}}{2}\right) dz \\ &= -\frac{1}{\Phi(\mu\tau^{\frac{1}{2}})(2\tau\pi)^{\frac{1}{2}}} \int_{-\mu\tau^{\frac{1}{2}}}^{\infty} exp\left(\frac{-z^{2}}{2}\right) d\left(\frac{-z^{2}}{2}\right) + \frac{\mu}{\Phi(\mu\tau^{\frac{1}{2}})} \Phi(\mu\tau^{\frac{1}{2}}) \\ &= \frac{1}{\Phi(\mu\tau^{\frac{1}{2}})(2\tau\pi)^{\frac{1}{2}}} exp\left(-\frac{\mu^{2}\tau}{2}\right) + \mu \bullet \end{split}$$

Furthermore, based on theorem 5 and equation (13), the Bayes estimator for ψ is

$$\widehat{\Psi} = E(\Psi) = \frac{1}{\Phi\left(n^{\frac{1}{2}\lambda^{\frac{1}{2}}}(\bar{x})^{-\frac{1}{2}}\right)(2n\lambda\bar{x}\pi)^{\frac{1}{2}}} \exp\left(-\frac{n\lambda(\bar{x})^{-1}}{2}\right) + (\bar{x})^{-1}$$
(14)

4. Conclusion

The main purpose of this paper to finding the mathematical expression of the Bayes estimator of parameters for the inverse Gaussian distribution under the Jeffrey's prior assuming a quadratic loss function so that the estimator is obtained based on the posterior mean. The Bayes estimator of μ is $\hat{\mu} = \hat{\psi}^{-1}$, where $\hat{\psi}$ in equation (14), while the Bayes estimator of λ is $\hat{\lambda} = \hat{w}^{-1}$, where $\hat{w} = \bar{x}\hat{\psi}^2 - 2\hat{\psi} + \bar{x}_r$ and $\bar{x}_r = \frac{1}{n}\sum_{i=1}^n \frac{1}{x_i}$.

References

- Bain, L. J. and Engelhardt, M., *Introduction to Probability and Mathematical Statistics*, 2nd, Duxbury Press, Belmont, California, 2006.
- Berger, J. O., Statistical Decision Theory and Bayesian Analysis, second edition, Springer-Verlag, New York, 1985.
- [3] Bolstad, W. M., Introduction to Bayesian Statistics, John Willey and Sons, 2004.
- [4] DeGroot, Optimal Statistical decision, John Willey and Sons, New Yersey, 2004.
- [5] Jia, J., Yan, Z., and Peng, X., Estimation for Inverse Gaussian Distribution Under Firstfailure Progressive Hybrid Consored Samples, *Filomat 31:18 (2017)*, 5743-5752.
- [6] Mudholkar, G. S. and Natarajan, R. (2002), The Inverse Gaussian Models: Analogues of Symmetry, Skewness and Kurtosis, Ann. Inst. Statist. Math., Vol. 54, No.1,138-154
- [7] Ramachandran, K. M. and Tsokos, C. P., *Mathematical Statistics with Applications*. Elsevier Academic Press, San Diego, California, 2009.
- [8] Vladimirescu, I. and Tunaru, R., Estimation Functions and Uniformly Most Powerful Test for Inverse Gaussian Distribution, *Comment.Math.Univ.Caroline* 44,1 (2003) 153-164.
- [9] Zul Amry, Bayesian Estimate of Parameters for ARMA Model Forecasting. *Tatra Mountains Mathematical Publication, Vol.75, (2020), 23-32.*